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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of
questions contained in the question paper are the same as those printed on the top
of the first page. Also check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., A, B, C or D and indicate your correct
answer in the answer-book given to you.

4. Making any identification mark in the answer-book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

S. Answers for questions, like matching, true or false, fill in the blanks, etc., are to be
given in the answer-book.

6. Write your Question Paper Code No. 53/VOC/O, Set [A] on the answer-book.
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Note : All questions are compulsory and carry marks as indicated against each
question.
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1. Indicate whether the given statements are True (T) or False (F) in the
answer-book provided : %x20=10

fau T et wI IT-Yedwt § T (T) =1 e (F) 3ha A

(a) Growth refers to quantitative changes in the body that are measurable.

Tgfg TR | 31T 3 wfmmoers gitedt  Fide s 2, 52w s aewar 21

(b) The average weight of a one-year old child is 8 kg.
T UH-aia Ry 1 3fed a5 8 fho o g 7

(c) Period of the embryo refers to the period from inception to eight weeks.

YT | aread THUR R ¥ TS THIE qo i 21afy Bt 2

(d) Sex of the child is determined by the chromosomes passed on by the
father.

=1 & fom =1 fafor frar g vew o @ g 7l

(e) The mother’s age affects foetus development.

a1 Y 3G o1 % okt geTfera st ® |
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(f) Later development is more critical than early development.

yriEyer T h smer wad! foemme s1fes foraes giar 21

(g) Breast-feeding prevents occurrence of diseases like diarrhoea and
dysentery in children.

TAAH Sl Rl gt TaTEeh! a1 &0 S U & ST 2

(h) The first cry of childbirth helps the heart of the baby to start functioning.
SFHIRIA o= o1 Tgell aR TFT 39 g&d hl & i § 9eEdl Y&H Kl g

(i) John, a one-year old child, normally sleeps for 12 hours a day.
S, Teh-afa o=, Fr=aaan fi7 7 12 92 9t gl

() Rehman, a 4-year old child, can recognize few common colours.

TEHM, T 4-INTa o=, TS TH T ol Jg=r R qehal 2|

(k) Cognitive development begins at birth and continuous throughout the life.

I foehe 570 8 & 2o R Sfad 7 =erar &l ¢

() A phobia is an irrational and excessive fear aroused by a particular object
or situation.

gifffar fereft foriw areg = ufdfeurfar gm0 seaar erama wa srcafies < g 2

(m) The peer group do not help the child to learn to behave in a socially
desirable manner.

U I ! G §9 9 SUfd STeer den § weEe 18w 2

(n) Democratic parents are warm, nurturing and believe in setting reasonable
limits for their children.

AT ATTTE Fogasfiicl Bid &, Wedled 9d & Td A9 a=ll & ol daeharTd
dird fufiq =@ o fogam w@a g

(o) Nutritional requirements for preschoolers are lower than those for adults.

e Sl i Guu-ge ATl aa%hi i 3T S Bidl 8|
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(p) Goitre is the swelling on the front side of neck due to enlargement of the
thyroid gland.

T, ATETE U § g % HROT TG % IS T H G 1 AT 2 |

(q9 Delayed development caused by genetic factors may be cured by
medicine.

IINTT hRhl o N Icdd fIfrerd faema 1 T qaredi g1 3ieh o Tahd @ |

(r)  Development is the product of motivation and learning.

forehrrE IO USSR w1 fdwe B 2

(s) Development refers to changes in height and weight only.

forepma @ qreqd g /oFITE Ud aeid | ST uiedal ¥ 2l

() The main indicator of growth is physical appearance of a child.
I § Hafg 1 g guw Iqhl wHifek aEe 7

2. Fill in the blanks and write the correct answer in the answer-book provided : 1x5=5

e T 1 9 A 3R T S A S SR § R

(a) is continuous and its involves changes.
AR g 2 foed afedy afffad 2
(b) Children lack to take into account the viewpoint of others.

A1 § Ul o eIl eAE W A @ a7l

(c) Vitamin C deficiency causes in children.

faerfm & & =t @ F= 2l 2|

(d) Asthma is a problem.
TeomT T T B
(e) Herpes is a problem.

REERCE o
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3. Match Column—A with Column—B and write the correct answer in the

answer-book provided : 1x5=5
Column—A Column—-B

(a) Marasmus (i) lodine deficiency

(b) Cretinism (i) Iron deficiency

(c) Nail deformities (i) Vitamin D deficiency

(d) Rickets (iv) Vitamin B deficiency

(e) Anemia (v) Protein deficiency

THITH—h %l HIAH—E ¥ GHTTT ST 3T T 3T I 30T IT-GferarT | fafae -

HAT—h HAT—E
(@) reE () TR A FH
(b)  SrEaTHAT (@) i i FH
(c) @ ferpicat (iii) foerfem & <
(d) g T (v) et =i <t
() g i wH (v) SEH T FH
4. Write short answers for the following : 5x2=10
Frfafaa = «fem s G

(a) How do knowledge and understanding of principles of development help
a teacher? Discuss.

e 371 T & fagdl ol TR Toh LA o Tl 8 Fg&Fh &7 <=l i

(b) Discuss any five milestones of development of children from 3 to 4 years.

3 ¥ 4 affa F=i & fordl uter foem & vl i == i |
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5. Discuss any five principles of development. Give suitable examples in support
of your answer. 10

foepra o foreel uter Tl ol ==l IS | 379 3T 1 g8 4 3fea 3ee i)

6. Develop a chart showing the supplementary feeding for a child up to one year
of age and from a vegetarian family from Northern part of the country. 5

T TN = F G SRR, S 9 %k IAE AW AR AREH TG gugfy | &, # yeeH
A g T F1E TGA hiT |

7. Explain in brief : 5x2=10
HEY | AW HIfWT :

(a) Any five factors affecting physical development of children at post-natal
stage

IS Uie Heh S a1 o RN foehmd sl geeiud sreen § gurfad id &

(b) Any five important needs of a preschool child
et st & hig ure Heequl ATk

8. Compare the pattern of growth of children in terms of weight from 1 year to
S years of age. S

199 € 5 T4 T h! T o o=l & a9 oh [eh-JRHMT Sl FeT shiTag |

9. Explain skin problems. Write any two of them that are commonly found in
children. 5

e -Heel FEEnet i o i | ST W RS & qEEId, S Sl § g 9 i,
fafe)

10. Discuss the role of teachers in educating community in dealing with
preschoolers with delayed development. S

foafre foshmd aTel Wferenerlt sl o fowa  SYaT™ ol SIRA i H TR i fHeT i
== i
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Note : All questions are compulsory and carry marks as indicated against each
question.
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1. Indicate in the answer-book whether the following statements are True (T) or
False (F) : ¥2x20=10

Frafafaa e @&t (T) § 31o@ Tea (F), 3 78 Sa-gfedent § 3 i

(a) Play creates situation for building social relations among children.

shieT YurTell & a=a] | |rHTSieh gree] o fmior i fig gedt 21

(b) ECCE centre imparts only education to the children.
o Fo Jo o &g =l I hael Teq Yam e 2|

(c) Piaget observed that young children learn best through direct experiences
with environment.

formst 3 ymnfora foren fo6 s wrferor @ wTH YeIe STgvEl @ It e e B

(d) In an ECCE centre it is necessary to check the cleanliness and health
condition of each child.

o Fo Fo o g H YT o= ol HHE R W &l S= HaH 2|
(e) The plan should be for the group as a whole and for a fair length of time.

FHrEASET R GE % fore =g S = ofv et 2t =iz
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(f) One activity can foster only one aspect of development.

U TRt foehm o haet T & Uee] I IE T B

(g9 Children’s ideas should be accepted for modifying the programme.
FriT o foret 3191 § uftadd & § ST % ged ol TWER AT e |

(h) Parental involvement does not solve any problem in an ECCE centre.

o |0 To 1o g T ANYTEeR! 1 qFfEH! & FIE TS & T8 2l 2

(i) Learning to wait for one’s turn helps in controlling the feelings of
frustration and anger.

3Toft ST SRl TeftedT T Wi o St e IR R W e ol 2

() Display board at the playschool should be at the eye level of children.
TA-Tgd H YeeE w # ae (vt aiE) =t &l i@t o T W g1 = |

(k) The stages of development of all the children of same age are same.

T 31 % At st % o o =or U-3 B

()  Evaluation is a constant process.

AT T T UihaT 2|

(m) Organizing an activity for an individual learner is poor planning.

T o= o fTT STAT-3TAT hhal o1 SATISH hiAT =St 91d 8l 21

(n) Timings of ECCE centre depend on the convenience of the community as
well as weather conditions.

o do Jo o g 1 A9 THEE i el IR Aaq-graf-aa qrfeafai @ fi
AT 2

(o) Child-centered programme can keep the children happy but it does not
provide opportunities for balanced development.

ATA-hf5d FEHA o= B G q T Thdl ¢ Teg GJird [GE kTR YEH
& |
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(p) Parental concerns for a children are not determined by their
socio-economic conditions.

Tl % IR H Ik AIAT-TUAT o TURR k! ATHTISR-3TT1 fearfa @ Faifa 78 2 2|

(@9 The first nursery school was set up by Maria Montessori.

o FHE Thel AT WeeEdt g Tfua foRem

(r)  Avoid setting up a separate avenue or activity for a disabled child.

e I=1 Rl 3T S=A W 3T 7 foag 3 e 9 feramehag [uffa T )

(s) All aspects of development should be addressed simultaneously rather
than in sequence.

foep@ o @t TeqeTi W wg-|re e foan S =fen 7 R STged |

()  After learning to write capital letters, a child learns to write in running
hand.

TUAEE o &1E & T TRETE AT ST Rl 2|

2. Fill in the blanks and write the correct answers in your answer-book : 1x5=5

T Tl <ht gfd <hifore ue wEl IR STt Se-gfedent ° forfg

(a) The major objective of ECCE is _____ development of a child.
o dTo Fo fiTo T T I T= forerma 21

(b) In the long-term ECCE helps to attain the goal of of elementary
education.

lo Ao do fTo 31=da: wafirer fRrem & & < T § g o 2|

(c) ECCE deals with care and education of children from years.

o Fo o o 1 SR % ST J@TE R e e e 7

(d) In 0-2 years a child explores the environment through his

0-2 TTet ht Y ATAT STk AT T I % qRET A @i FaT 2

(e) The first nursery school was established by __

o T TR % g errfua feRam T
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3. Match the activity with the development which it caters to and write the correct
answer in your answer-book : 1x5=5

Frafafaa fomn 1 o8 awafea fowm & @19 fam e 3R a9t 3T o Im-gfe
7 fafau .

Activity / T Development / Tae1d

(a) Putting together cutout pictures (i) Healthy personal habits
T & a%g o T o gohe iRt L T e AR 3TaEd
AR 3 | ST

(b) Discriminating pleasant and (ii) Finer muscle coordination
unpleasant odors and identi- geH TrEARET 1 =TT
fying objects of them
i i gt § e T o e %
STTER qE=m=T

(c) Sorting out play equipments like (iii) Problem-solving and reasoning
beads, blocks on the basis of size, TS 1 GHIEE 37 fe=

weight and thickness
T ARl S T, scfehl i STHR, a9
3R HI2TE & feamd | STwT- 3Tl Wl

(d) Threading objects like flowers, (iv) Sensory development (sense of
leaves and beads smell)
%, IfEl TR WehRt SiEt =i 6 amm o fasma (gmr arer)
o
(e) Washing hands before and after (v) Pre-number concept
eating food q@‘_m ST
HISH | U8 3R 918 § g g

4. (@) Discuss any two special features of Early Childhood Care and Education
Programme. S

URIRTh o1 SE-1g 3T f31er swrdsdt o 9t fomi s1fsrereqon =1 svi hifsa |

(b)  Why should activities be planned in advance for an ECCE centre? Give
any two reasons. S

o oo 2o f3To ez & forameratdl ) Tect @ ASHT 1 dIR HTT =feu? g & wEo
Tq1EY |

440/VOC/930 6



5. Write short note on any one of the following : S

Frfaftaa & @ fordt wer W wigm foooft fafa
(a) Anganwadi

TS
(b) Creches

RRIVE

6. Distinguish between a child-centred activity and teacher-centred activity.
Write any two points. 5

TTA-hirsd HEHAT T TATTh-hi5d HREGAY & o= el g1 3=l & o1 | fafgu)

7. Assuming that an ECCE centre works from 8 a.m. to 12:00 noon. Write a day’s
schedule with specific timings for each activity. 10

o So Fo Mo %z 1 & YaIg 8 o1 W AUEX 12 ! d%h WA U Ueh fa shl THI AU 18T
forem Wk feramenaTa <t forty wmremafy € g8 @l

8. Write on the contribution of any one of the following in the field of early
childhood care and education : 5

Tlo o To o & & ¥ Fmfarftaa @ @ foreht we & amem & fawg o fafaw -
(a) Mahatma Gandhi

T el

(b)  Friedrich Froebel

EAICERER|

9. Discuss any two activities that you will adopt to develop the concept of natural
environment (animals, birds, insects, vegetables, fruit, etc.) among the chidren. S

Toret =t FrishaTdl 1 3g@ HIT S 19 =1 § UTehfareh A TeRoT il Tehour1 (U9, Uaft, i,
wfssmt, wet, 3nfe) i fommftd 0 % forg o |
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10. (@) “Developmental profile of a child is a report card with a difference.” Do
you agree with the statement? Give any two reasons in support of your
answer. 5

‘It 1 faeaes tarae T fOfie ger o o o 2V oY 3 wed §
TEad 8¢ 79 I Al gfy o foru foredi | wmont = difvw)

(b) Write the five points you will keep in mind while describing the
developmental profile of a child. S

Tk o1 [oRMIEh {@T=E dIR d 999 314 &9 ute fomgati =1 e @i e
3@ |
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